SA2EE
5L

—fx =5t * 1BRI=
RT "'*E,\%U%?%

SEAMLETEEN

(i FF)
E VAN . /
5 1E 80 fH1E %
) fHIE%E %5@% fig =
= = g = == gﬁ
= =t gy ¥ &8 ¥ & (%)
— e st 23,120,000| 5.768,765| 28.888.765| 25.0
ZEB2BB A 219800 219,800
= ﬁ% = {%f % f 5.821.600 5.821.600
mmEEERast| 173,600 173,600
g /ﬁgﬁ %ﬁ %ﬁj ﬁgﬁy ﬁ 40,500 40,500
nERBRSEBas| 5670600 5.670,600
= Ié & %g%ﬁ El @/_E\’% $§ 724.700 724,700
EMXER T HHXE 1 1
HIBSEXEBRSE
FEEHNXER THXE 1 1
HIBSEXBRSE
st 12,650,802 12,650,802
= =t 35,770,802| 5.768,765| 41539567 16.1




